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(Cost Accounting)
Full Marks : 80

Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

L. Answer the following as directed :
1x10=10

ﬁﬁﬁwﬁmﬁm@ﬁa@mﬁm

(a) Cost accounting is a tool used by
. management for

(Fill in the blank with appropriate word) -

T A3 f2piorsac g5 AfREEe e Game
GiEE T |
(GG 7T =T A2 279 71)
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(b) Aggregate of direct costs is referred to

(¢

S PR C O S T

(Fill in the blank with appropriate word)

AT TR TR . IS e |
(GAFS =g T AZ 959 )

The difference between attendance time

and work time is known as

ToBog T FF TG T ASS vnafms
e Gt |
(i) motion and rating

5ifS =N [

(ii) time and work

Y S T

(iij motion and time

5if® ST T

(iv) job and work

IR oI
(Select the correct answer)

(P Gechr Az e
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(d) Abnormal loss of material is charged

(e)

(9)

to costing Profit and Loss Account.
(State whether the statement is true or
false)

AN TRCINE Fod el I Fhe-
ETFE RIS Seve < |
_(@@YWWHWI%W)

Idle time arises only when workers are
paid on basis of wages payments.
(Fill in the blank with appropriate word)
=IfSp fofes g emiv =19 AR Fl
S R = ‘

(G A9 Tl AT %79 )
Variable cost per unit remains constant.
(State whether the statement is true or
false)
ﬁf%a—ﬂ% T AfS (olTh @ R R AT |

(GleCh! 7oy (o SPe] [o13)

Contract costing is also known as

W%QWWWW

(i process costing

eiferaiore Tesiive 7w Zbicet
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(i) terminal costing () What is notional profit ?

Tifefer Teolwa T =Zoicel g grefefes wite & 2

(aUfiIeb: costing ' 2. Answer the following questions : 2x5=10
S BT ID I IRRR K]
oo iR Oed ol ¢

(iv) batch costing
(@) What is unit cost?

TR Tl A5 f=2bIcH | ; >
(Select the correct answer) Colo. G G =B 2
(i TR IE) (b) Write two benefits of time and motion
(k) In job costing, the cost of an incomplete : |- e ' study.

job is termed as

TS GeA TS, SR T B ,
WW?‘II (c) What is meant by semi-variable

G G SIS ST 70! AR T |

(Fill in the blank with appropriate word) overhead ?

(Boge T A I g )| AR TR A A B w2

(i) Overtime work is to be paid for at

e s | (d) Write two features of contract costing.
Sfsfe TR FE AR Tl 29 | foifefes Seriva 7 767 (@R i
ol B9l 27 |

(e) State the meaning of overtime.

(Fill in the blank with appropriate word
’ e T S

(Cole =g =Tl 912 23 )
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3. Answer any four of the following questions :
5x4=20
oeTS 73 e Riepier sifsoi9 B fBral

(a) Mention five benefits of cost accounting.
GesAe  RRo1Ase Aisor ARl

(b) From the following information, prepare
a cost sheet showing cost per unit and
profit for the month of January, 2024 :

oS 1Al OAPTRS 2[, &S (3Ilog Besim
SR GIENET 2024 Wi &S [dEe 9 @2
Bl JIAH! oFS I8

Raw materials consumed ¥ 80,000
GBI AN 2T |
Direct wages T 48,000
UYOTF AGR

Machine hour worked 8,000 hours
Machine hour rate ¥ 4 per hour
fEd I TR T

Office overhead 10% of works cost
P Toifzs

Selling overhead per unit S 1155)

Rerrsfe @ ofs @ive
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(c) Following information, relating to a type
of raw material, is available: 3+2=5
weTo WHl SAPTR G (X (FH1 ATAN CIoe
TS 8
Annual demand 6400 units
e mifzm
Unit cost % T6
(5115 e _

Carrying cost 25% of unit cost
o HE

Procurement cost ¥ 75 per order
I ESERSIE]

Calculate EOQ and number of orders
per annum.

EOQ fi=el 31, #i5i0o 1 T SIS 71201
e <= |

Units produced 4,000 units
7o Teofifte (ailb

Units sold 3,600 units @ ¥ 50 each
3 RE

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 7 Contd.



{d} Explain briefly the needs of labour cost
control.

mwﬁﬂaﬁmmamnw|

(e) Write five features of overhead cost.

TeifRe AR AAhr @R B

(f) Write five differences between job
costing and contract costing.

Ffefes Gl T SNiF Baifeies Gertn "
e Aol AN v

4. Answer any four of the following questions :
10x4=40

—cf—ﬁmmmﬁzmmﬁm Teq foral s

(a@) Explain the factors to be considered
for installation of a costing system. |

AT 1 AT 2ifoP] SR CRaS s <=1
M =T <1 |

- (b) Explain ‘maximum level’, ‘minimum
level’ and ‘re-ordering level’ of materials
stock maintained in an organisation.

GOl AV AN TGO TR &,
SRR T W= o B TR R0 iR
U
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(c) North-East Manufacturing Company uses
rubber, which is purchased according to
requirement, from the market. Following
purchases and issues were made during
the month of March, 2024 : '

2P IRk NG aen SR <=1
TG A9 AR AR T FER| T 2024
59 Wb 2S < T oS [erg W 26

March 1
March 3
March 4
March 7

March &

March 15

March 18

Opening stock 2000 kg @ T S each
(SR Teo)

[SSied s 1500 kg
(ffer)

Purchased 4500kg @ ¥ 6 each
(@)

Issued 1600 kg
(Rife) |
Return by production 100 kg .
department

(Issued on March, 3)

e Rl #A€l @F=e

(3 e f[ferg)

Purchased 2400 units @ 6:50 each
(@)

Return to supplier 200 units
(Purchased on March, 4)
(&IRIGERIG RN

(4 o® T 1)
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March 24 : Purchased 1,000 units @ ¥ 7 each Hourly wage rate T 7-50
() ‘ TGRA 2R 2% TS

March 26 : Issued 2100 units ;
(&R ; Rate per unit ¥ 3-00

March 27 : Purchased 1200 units @ ¥ 7-50 each oS (53 23

SR (), Normal time taken 24 minutes
March 31 : Issued 2800 units per unit
' (=)

(@)

(e)

From the above information prepare
Storage Ledger by applying FIFO method.

A4S (5159 TeAvET TSRS ANg

Normal output per week 120 units

A Freits ST 29

€499 AP “ql FIFO ~&f® I

AN RISCEERE Jfoga aEe 4| Actual output per week 150 units
(i AU AFO T

What is meant by labour turnover?
What would be possible effects of labour
turnover on the cost of production?
Explain. ; 2+8=10
Wi oifs e & 3@ ¢ @fiE Sk Fere
Tesllim TS (@ GFOR FBRY ASR AR AT
OIF GG =11

Following are the information related
to earning of a worker for a week:

oS Al SRR GG SR G AR SATEE
G GG 3 , :

Weekly working time 48 hours
Al T 7

Calculate the earning of the worker for
a week under —

oo Tl 4R HERRGHE G AR TGS ai=el
408
(i) straight price rate
A T A]O
(ij)  Halsay premium scheme
2o eARf%e =6 o
(iii) Rowan premium scheme

@ el SicH e
2+4+4=10
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(0

(9)

What is meant by machine hour rate ? -

Mention the steps required to compute

machine hour rate. 2+8=10

TfET T 9 W & & 2 AET T 9
S ST AR Gl 4 |

A product passes through two processes.
The output of process I becomes the
input of process III and the output of
process II is transferred to warehouse.
The quantity of raw materials introduced
in to process I is 20,000 kg. The cost
and output data for the month of

January 2024, review as under :

BT Tesime ARG 9o G elfeme e
T | AT Geoiive AfER o[ e e
Tesfifre AE! [EiT T eifdFars &1 FAwa)
2o T9zE = U 7o AfEaEant Tesite
AR Ay TGS SN0 B 1 = | =N
ATFAIOre (5] Ael =61 20,000 et
AN 2T 9 (2T | A= O TesiwE U
TS 2024 9 GRS 2 ~al @R 2 2
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Direct materials

Direct labour

Production overhead

Tesli Teifze

Normal loss
Fellis wo

Output
Gl

Loss realisation

T

Process I

T 60,000

740,000

¥ 39,000
8%

18,000 kg

Process II

¥ 40,000
3 -30,000
¥ 40,250
5%

17,400 kg

¥ 2 per unit ¥ 3 per unit

The company fixes selling price on end
product at a margine of 20% on cost. Prepare
the Process Account and determine the

selling price per unit.

@EARIE 20% FS CRAVH A3 \Sow [z 1<e T
Rt 3o TS AN 8o 412 7 | 2Uferai 2o
oo 919 900 Ui (olios Ry oy Fame |
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(h) Following are the summary of
transactions obtained from the costing
records of Sri Ram India Limited :

weTe QRN 3o FiRoes TelE T T2
TS [REE el w2 vl =47 ¢
Purchase 7 2,00,000
&Y
Production wages paid ¥ 70,000
Teolve TGR Al

Stock issued to production order T 80,000
Seolve A AW [

Works expenses charged
to production - ¥45,000

T TeAms [AICe

Finished goods transferfed
from production orders ¥ 2,22,000

B TR ~fal RN AN I

Administrative expense charged

to production ¥ 15,000
T [eikice RS I e

Work expenses outstanding ¥ 12,100
Tlewe T
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Work expenses paid 7 25,000
= 3 2
Pass Journal entries for the above
transaction under integral system of

accounting.
S Wﬁ{iﬂ\r S fRpi7IRe “imfo Siemi
e w1 |
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